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, Note: This question paper contains two parts A and B.
Part A is compulsory which carries 25 rnarks. Answer all questions in Part A. Part B
consists of 5 Units. Answer any one full question from each unit, Each question carries

COMPILER DESIGN
(Comnron to CSE,IT). .
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What is Language Processor?
Differentiate between pass one and pass two of a compiler.
Define context free grammar.
What do you mean by ambiguous grammar? Give example.
convert (he expression a=. bx-c * b*-p into three Address statementsr-.,
What,is,an attribute? E-xplain difleieru rypgs of attrjbuie?- ,,.' ,,:,, 

,;,

Listthedifferent3toiageaIlocationstiaffi,..--.,:..-;-ii
What are the sub problems in register allocation strategies?
Give the applications of DAG.
What is the role of flow graph optimizing a cornpiler?

i",i i j i.,j i .j .'lo' .' ..-,,i i i i, ,,ii: :, ., i ii '.. i .;i , : ';t.,. i.:
With a neat diagram explain the phases of a compiler in detail.

OR
3. Give an example to design an automaton from a given regular expression.

Write syntax directed definition for flow of control statements.
OR

W_rite the three address co.de sequenc€ for!,he d:=(a.+it1a-o)+(a-c). i ..j i :
f', .,11.. 
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Give.exainpIetobxplainpeepholeopiiriiizbtiontechniqueindetail...,.,,,,,.,i
OR

Write in detail about the issues in the design of code generator.

Test w-hether the glgm"pgr is LL(1) 
-or 

not and construct a predictive parsing table for it
siiEls,liEtsesla, p-b.1 i. ,,i i_., i...,j i j i",,, ; .', r,,l9J i :...]i .,.i,.,. , iO\. i il-';. t. .t:-".. i.-:i-'.
Construct an LALR parsing table for the following giammar: tiOtE--*E+T|T T-+T*FIF F-+ (E) lid
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With an exatnple explain common sub expression and dead code elimination methods
in detail.
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What is'DAG and.flowgiaph? Explain their role inicorirpilzition p.ooess'. i ',, fio1i ; 
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